
SH - 136

B.A. (Part - III) (Semester - VI) (CBCS) Examination, March - 2023
ABILITY ENHANCEMENT COMPULSORY COURSE (AECC-6)

English for Communication (English Compulsory) (New)

Sub. Code : 75702/80012
Day and Date : Monday, 29 - 05 - 2023   Total Marks : 40

Time : 10.30 a.m. to 12.30 p.m.

Instructions : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Seat
No.

Total No. of Pages : 3

P.T.O.

Q1) A) Rewrite the following sentences by choosing the correct alternatives given
below. [3]

a) The lighthouse keeper disappeared during _______

i) storm ii) night

iii) dawn iv) daylight

b) The boy has to support his mother and ________

i) three sisters ii) father

iii) brother iv) two sisters

c) The outsider in the poem 'The Mystic Drum’ stands for _______

i) communalism ii) Western imperialism

iii) guest iv) religion

B) Answer the following questions in a word or a phrase or a sentence. [3]

a) Why does the rich man give loan to the boy?

b) Why does the fingers and hands of the soldiers are slack and useless
in the poem ‘Two Dead Soldiers’?

c) What does the poet? in the poem ‘Bora Ring’ imply in the line ‘...
the tribal story lost in an alien tale'.
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Q2) A) Answer the following questions in 3-4 sentences each (2 out of 3). [4]

a) Why was it necessary to fill the post of lighthouse keeper at the
earliest moment?

b) How does the boy create sympathy and admiration in the mind of
the rich man?

c) Describe the beauty of nature in the poem “The Mystic Drum”.

B) Write a short note on the following in about 7-8 sentences ( 1 out of 2).[4]

a) Life on the tower described in the story ‘The Lighthouse Keeper of
Aspinwall’.

b) The theme of the poem ‘Two Dead Soldiers’.

C) Give antonyms of the following words. [2]

a) appear

b) darkness

Q3) A) Build up a short piece of group discussion on the following topic. [8]

How to involve students in tree plantation?

OR

A friend in need is a friend indeed.

B) Read the passage given below and make notes using the ‘flow chart’.[8]

Chocolate Malted Snacking Cake

Malted milk powder somehow makes this chocolate snacking cake
taste wholesome rather than decadent. It is a great after-school snack
cake when served with a tall glass of milk. If this is too plain for your
children’s taste, you can cover the top of the cake with a half recipe of
the chocolate ganache glaze (without the chopped butter finger R bar)
and sprinkle the glaze with 1/2 cup of crushed malted milk balls.

a) Preheat the oven to 350°F. Grease an 8-inch square baking pan and
dust it with flour, knocking out any extra.

b) Combine the sugar, malted milk powder, flour, cocoa powder, salt
and baking powder in a large mixing bowl. With a wooden spoon or
electric mixer, stir in the eggs, milk, butter and vanilla until just
combined.
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c) Scrape the batter into the prepared pan and smooth the top with a

rubber spatula. Bake until a tooth-pick inserted in the center comes
out clean, 35 to 40 minutes. Let the cake cool in the pan for about
10 minutes. Invert it onto a wire rack and then turn it right side up on
a rack to cool completely.

d) Store uneaten squares in a cake keeper or wrap in plastic and store
at room temperature for up to 3 days.

OR

You are planning a trekking to your favourite place with your friends.
Make notes of what you must do to get most out of this trek. Use the
‘mind mapping’ technique for this purpose.

Q4) A) You are working on a popular TV channel, where a discussion is to be
projected. The topic of discussion is ‘Save the nature and natural
resources’.

Prepare a TV script to compare the programme, in which the topic, its
importance in the present situation and the participants are introduced by
you. [8]

OR

Imagine yourself as the editor of an English newspaper published from
Maharashtra. Write the concluding remark of the editorial on the death of
a famous film personality.


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Q1) Complete the following Sentences by choosing correct alternative. [5]

a) In the International trade, goods are classified into two groups such as
______

i) Small and big ii) Visible and invisible

iii) Heavy and light iv) None of these

b) Balance of payment is divided into _____ account for the convenience
of accounting.

i) Current account and capital account

ii) Visible and invisible account

iii) Assets and liabilities

iv) Imports and exports account

c) ______ are the instruments of export promotion policy.

i) Export subsidies ii) Export credits

iii) State guarantees for loan iv) All of above
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d) Foreign Capital leads to ______

i) Inflation ii) Deflation

iii) Economic depression iv) None of these

e) World Trade Organization was established in ________

i) 1995 ii) 1996

iii) 1997 iv) 1998

Q2) Write short notes on (any three) [15]

a) Balance of Trade.

b) Exim policy 2014-19.

c) Foreign Direct Investment.

d) Export Promotion Policy.

e) World Bank.

Q3) Answer the following questions in detail. (Any Two) [20]

a) Explain the remedies of disequilibrium in Balance of Payment.

b) Explain the functions of international Monetary fund.

c) Explain the volume and direction of foreign trade in India since 1991.
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‘amR>r ê$nm§Va

gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.

3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z Imbrb {dYmZo nyU© H$am. [5]

A) Am§VaamîQ´>r¶ ì¶mnmamV, dñV§yMo XmoZ JQ>m§‘Ü¶o dJuH$aU Ho$bo OmVo Ogo H$s ................

i) bhmZ Am{U ‘moR>r ii) Ñí¶ Am{U AÑí¶

iii) AdOS> Am{U hbHo$ iv) ¶mn¡H$s Zmhr

~) {heo~mÀ¶m gmo¶rgmR>r ì¶dhmaVmobmÀ¶m ImË¶mMo ............. Ago ^mJ Ho$bo OmVmV.

i) Mmby ImVo Am{U ^m§S>dbr ImVo ii) Ñí¶ Am{U AÑí¶ ImVo

iii) ‘mb‘Îmm Am{U Xo¶Vm iv) Am¶mV Am{U {Z¶m©V ImVo

H$) {Z¶m©V àmoËgmhZ YmoaUmMr .............. gmYZo AmhoV.

i) {Z¶m©V AZwXmZ ii) {Z¶m©V nVnwadR>m

iii) H$Om©gmR>r amÁ¶mMr h‘r iv) darb gd©

S>) {dXoer ^m§S>db ............. bm àmoËgmhZ {‘iVo.

i) ^mddmT> ii) ^mdKQ>

iii) Am{W©H$ ‘§Xr iv) ¶mn¡H$s Zmhr

B) OmJ{VH$ ì¶mnma  g§KQ>ZoMr ñWmnZm ................... ‘Ü¶o Pmbr.

i) 1995 ii) 1996

iii) 1997 iv) 1998
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à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) ì¶mnmaVmob

~) Am¶mV-{Z¶m©V YmoaU 2014-19

H$) naH$s¶ àË¶j Jw§VdUyH$

S>) {Z¶m©V àmoËgmhZ YmoaU

B>) OmJ{VH$ ~±H$

à.à.à.à.à.3) Imbrb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) ì¶dhmaVmobmVrb Ag‘Vmob XþéñV H$aÊ¶mMo Cnm¶.

~) Am§Vaamï´>r¶ ZmUo{ZYrMr H$m¶} ñnîQ> H$am.

H$) 1991 nmgyZ ^maVmVrb naH$s¶ ì¶mnmamMo AmH$ma‘mZ Am{U {Xem ñnï> H$am.


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Q1) Complete the following sentences by choosing correct alternatives: [5]
a) _____ is a type of non-probability sample selection.

i) Card system ii) Grid system
iii) Lottery system iv) Quata system

b) According to _____ sample selection means select a certain percentage
of a unit in any unit in the cluster.
i) Bogards ii) David
iii) Fax iv) Manham Harry

c) The value of a variable that cannot be affected by the value of the last
component is ______
i) Mode ii) Median
iii) Arithmetic Mean iv) Standard Deviation

d) Two Variables change in the same direction’s it is called _______
correlation.
i) Positive ii) Negative
iii) Numerical iv) Qualitative

e) The concept of standard deviation firstly introduced by _____
i) Dr. Daltton ii) Karl Marx
iii) Karl Pearson iv) Spearman
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Q2) Write a short notes. (Any Three) [15]
a) State the structure of tabulation.

b) The concept of mode.

c) Merits of Graphs.

d) Types of correlation.

e) Objective of Report Writing.

Q3) Write in detail answer of following questions. (any two) [20]
a) What is sampling? State its various types.

b) Types of Central Tendency.

c) Use of Report writing.

‘amR>r ê$nm§Va

gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) Amdí¶H$ VoWo g§wXa AmH¥$Ë¶m H$mT>m.

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdS>m. [5]
A) ............ hm J¡ag§̂ mì¶Vm Z‘wZm {ZdS>rMm àH$ma Amho.

i) H$mS>© nÕVr ii) J«rS> nÕVr

iii) bm°Q>ar nÕVr iv) H$moQ>m nÕVr

~) .......... ¶m§À¶m ‘Vo H$moUË¶mhr EH$H$mÀ¶m EH$m g‘whmVrb EH$ {ZpíMV à{VeV KQ>H$ {ZdS>Uo
åhUOo Z‘wZm {ZdS> hmo¶.

i) ~moJmS>©g² ii) S>opìhS>

iii) ’°$³g iv) ‘°Zh°‘ hoar
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H$) eodQ>À¶m KQ>H$mÀ¶m qH$‘VrMm n[aUm‘ Á¶mda hmoD$ eH$V Zmhr Aem MbMo ‘yë¶ åhUOo
.............. hmo¶.

i) ~hþbH$ ii) ‘Ü¶Vm

iii) J{UVr¶ ‘Ü¶ iv) à‘mU {dMbZ

S>) XmoZ Mbo EH$mM {XeoZo ~XbVmV, Ë¶mg ................ ghg§~§Y åhUVmV.

i) YZmË‘H$ ii) G UmË‘H$

iii) g§»¶mË‘H$ iv) JwUmË‘H$

B) à‘mU {dMbZ nÕVr hr g§H$ënZm àW‘ ............. ‘m§S>br.

i) S>m°. S>mëQ>Z ii) H$mb© ‘m³g©

iii) H$mb© {nAg©Z iv) ñnrAa‘Z

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) gmaUrMr aMZm ñnï> H$am.

~) ~hþbH$ hr g§H$ënZm ñnï> H$am.

H$) AmboImMo ’$m¶Xo.

S>) ghg§~§YmMo àH$ma.

B) Ahdmb boIZmMr C{Ôï>o.

à.à.à.à.à.3) Imbrb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) Z‘wZm {ZdS> åhUOo H$m¶? {VMo {d{dY àH$ma gm§Jm.

~) H|${Ð¶ àd¥ÎmrMo àH$ma gm§Jm.

H$) AhdmbMo Cn¶moJ ñnï> H$am.


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Q1) Complete the following sentences by choosing the correct alternatives given
below. [5]

a) _______ is a one of the characteristics of perfect competition.

i) One seller ii) Heterogeneous products

iii) Homogeneous products iv) None of these

b) In a monopoly market there is a only one _______

i) Seller ii) Production

iii) Consumer iv) None of these

c) According to Chamberlin in a _____ long-run “Excess capacity” come
across in

i) Perfect competition ii) Monopoly market

iii) Monopolistic competition iv) None of these
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d) Modern theory of Rent is known as ______.

i) Scarcity Theory of Rent

ii) Risk Bearing Theory of Rent

iii) Ricardian Theory of Rent

iv) None of these

e) ________ is the reward for parting with the liquidity.

i) Rent ii) Wages

iii) Interest iv) None of these

Q2) Write the short notes (any three) [15]

a) Price determination under perfect competition.

b) Characteristics of monopoly market.

c) Concept of “Excess capacity”.

d) Assumption of marginal productivity theory.

e) Motives for liquidity preference.

Q3) Write in detail answers of the following questions. (any two) [20]

a) Explain the characteristics of perfect competition.

b) Explain the type of monopoly.

c) Explain the modern theory of rent.
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‘amR>r ê$nm§Va

gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) Amdí¶H$ VoWo ZrQ>ZoQ>Ho$ AmH¥$Vr H$mT>mdr.

3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbr {Xbobo ¶mo½¶ n¶m©¶ {ZdSy>Z Imbrb dm³¶o nyU© H$am. [5]

A) ............ ho nyU© ñnY}Mo EH$ d¡{eîQ²>¶ Amho.

i) EH$ {dH«o$Vm ii) {df‘ CËnmXZo

iii) EH$g§Y CËnmXZo iv) ¶mn¡H$s H$mhrhr Zmhr

~) ‘³VoXmar Agboë¶m ~mOmanoR>oV EH$M .......... Amho.

i) {dH«o$Vm ii) CËnmXZ

iii) J«mhH$ iv) ¶mn¡H$s H$mhrhr Zmhr

H$) Moå~a{bZÀ¶m ‘Vo ................... XrK©H$mimn¶ªV “A{V[a³V j‘Vm” g‘moa ¶oVo.

i) n[anyU© ñnYm© ii) ‘³VoXmar ~mOma

iii) ‘³VoXmar¶w³V ñnYm© iv) ¶mn¡H$s H$mhrhr Zmhr

S>) I§S>mMm AmYw{ZH$ {gÕm§V .................. åhUyZ AmoiIbm OmVmo.

i) I§S>mMm Xþ{‘©iVm {gÕm§V ii) I§S>mMm OmoIr‘ nËH$aÊ¶mMm {gÕm§V

iii) I§S>mMm [aH$m{S>©¶Z {gÕm§V iv) ¶mn¡H$s H$mhrhr Zmhr

B) ............... VabVogh {d^³V hmoÊ¶mMo ~jrg Amho.

i) ^mS>o ii) doVZ

iii) ì¶mO iv) ¶mn¡H$s H$mhrhr Zmhr
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à.à.à.à.à.2) bKw Q>rnm {bhm. (H$moUË¶mhr VrZ) [15]

A) nyU© ñnY}A§VJ©V qH$‘V {ZpíMVr

~) ‘³VoXmar ~mOmamMr d¡{eîQ²>¶o

H$) “A{V[a³V j‘Vm” Mr g§H$ënZm

S>) gr‘m§V CËnmXH$Vm {gÕm§VmMr J¥hrVo

B>) VabVm àmYmÝ¶mgmR>r hoVy

à.à.à.à.à.3) Imbrb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) nyU© ñnY}Mr d¡{eîQ²>¶o ñnîQ> H$am.

~) ‘³VoXmarMo àH$ma ñnîQ> H$am.

H$) I§S>mMm AmYw{ZH$ {gÕm§V ñnîQ> H$am.


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Q1) Choose the correct option and complete the following statements : [5]
i) The 2nd five year plan of India was based on the Model of :

a) Mahalnobis b) HarrodDomar Model
c) Bombay plan d) None of these

ii) Which of the following is not matched correctly about NitiAayog.
a) NitiAayog head office : Delhi
b) Prime Minister : Chairman
c) Parent agency: Government of India
d) Niti Aayog replaced : National Development Council

iii) Input output analysis is used in large quantities in ________ developed
countries.
a) Agriculture b) Trade
c) Technology d) Industrial

iv) In motivated planning, bank’s monetary policy plays an important role.
a) Merchant b) Rural
c) Central d) Cooperative

v) ________ has an important place in democratic planning.
a) Individual freedom b) Decentralization of power
c) Forced d) Monopoly

P.T.O.
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Q2) Write a short Notes (Any Three) : [15]
a) NITI Aayog

b) Exchange analysis

c) Labor-oriented production system

d) Gandhi Yojana

e) Planning and services

Q3) Broad Questions (Any Two) : [20]
a) What is financial planning? Explain the pros and cons of planning.

b) Analyze in detail the key terms of successful planning.

c) Explain the role of National Development Council by explaining the
structure and function of planning board.

_amR>r ê$nm§Va_amR>r ê$nm§Va_amR>r ê$nm§Va_amR>r ê$nm§Va_amR>r ê$nm§Va

gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) gd© àíZ Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) Amdí`H$ VoWo gw§Xa AmH¥$Vr H$mT>m.

à.à.à.à.à.1) {Xboë`m n`m©̀ m_YyZ `mo½` n`m©̀  {ZdSy>Z {dYmZo nyU© H$am. [5]

i) ^maVmMr Xþgar n§Mdm{f©H$ `moOZm H$moUË`m àmê$nmda AmYm[aV hmoVr?

A) _hmbZmo~rg ~) hoamëS> S>mo_a

H$) _w§~B© ̀ moOZm S>) darb n¡H$s Zmhr

ii) Imbrbn¡H$s H$moUVo {dYmZZrVr Am`moJm~Ôb `mo½`arË`m OwiV Zmhr?

A) {ZVr Am`moJmMo _w»`mb`… {X„r

~) n§VàYmZ… AÜ`j

H$) _yi EOÝgr… ^maV gaH$ma

S>) {ZVr Am`moJmZo `m§Mr OmJm KoVbr… amï´>r` {dH$mg n[afX
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iii) AmXmZ-àXmZ{díbofU _moR²>`mà_mUmV ............... àJVXoemVdmnaboOmVo.

A) eoVr ~) ì`mnma

H$) V§ÌkmZ S>) Am¡X²`mo{JH$

iv) ào[aV {Z`moOZmV ............... ~±Ho$Mo MbZ nwadR²>`mMo YmoaU _hËdmMr ŷ{_H$m nma nmS>Vo.

A) ì`mnmar ~) J«m_rU

H$) _Ü`dVu S>) ghH$mar

v) bmoH$emhr {Z`moOZmV .............. _hÎdmMo ñWmZ AgVo.

A) ì`º$sñdmV§Í`mbm ~) gÎmoÀ`m{dH|$ÐrH$aUmbm

H$) gº$sbm S>) _ºo$Xmarbm

à.à.à.à.à.2) {Q>nm {bhm … (H$moUVohr VrZ) [15]

A) ZrVr Am`moJ

~) AmXmZ àXmZ {díbofU

H$) l_ àYmZ CËnmXZ V§Ì

S>) Jm§Yr `moOZm

B) {Z`moOZ Am{U godm joÌ

à.à.à.à.à.3) {XKm}Var àíZ … (H$moUVohr XmoZ) [20]

A) Am{W©H$ {Z`moOZ åhUOo H$m`? Vo gm§JyZ {Z`moOZmÀ`m g_W©ZmW© d {damoYr _Vo ñnï> H$am.

~) `eñdr {Z`moOZmÀ`m à_wI AQ>tMo g{dñVa {díbofU H$am.

H$) {Z`moOZ _§S>imMr aMZm d H$m ©̀ ñnï> H$ê$Z amï´>r` {dH$mg n[afXoMr ŷ{_H$m ñnï> H$am.


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Q1) Complete the following sentences by choosing correct alternative : [5]
a) The Average cost of Representative firm is ________.

i) Zero ii) Maximum
iii) Minimum iv) Infinite

b) According to Mahatma Phule __________ is the main cause of poverty
of the farmers.
i) Illiteracy ii) Lack of capital
iii) Lack of Planning iv) Inheritance Right Act

c) The concept of Self-reliant village proposed by __________.
i) Mahatma Gandhi ii) Dr. Ambedkar
iii) Dadabhai Naouroji iv) Mahatma Phule

d) ______ was the first person to focus the attention towards poverty in
India.
i) Mahatma Gandhi ii) Dr. Ambedkar
iii) Dadabhai Naoroji iv) Mahatma Phule

e) According to Marshal there are _______ factors of productions.
i) One ii) Two
iii) Three iv) Four

SH - 216

B.A. (Part - III) (Semester - VI) (CBCS) Examination, March - 2023
ECONOMICS (Compulsory)

DSE-E200 : History of Economic Thought - II (Special Paper - XVI)
Sub. Code : 75835/80135

Day and Date : Wednesday, 31 - 05 - 2023 Total Marks : 40
Time : 10.30 a.m. to 12.30 p.m.

Instructions : 1) All questions are compulsory.
2) Neat diagram should be drawn where is necessary.
3) Figures to the right indicate full marks.

Seat
No.

Total No. of Pages : 3

P.T.O.

10
1



SH - 216

-2-

Q2) Write short notes. (Any Three) [15]
a) Economic Drain Theory.

b) Concept of Representative firm.

c) Mahatma Gandhi and Gram Swarajya.

d) Co-operative principle of Gadgil.

e) Economic Thoughts of Dr. B.R. Ambedkar.

Q3) Write detail answer on the followings (Any two) : [20]
a) Explain the Quasi rent concept of Marshall.

b) Explain the Agriculture Development Policy of  Rajarshree Shahu Maharaj.

c) Explain the Economic Thoughts of Dr. Amartya Sen.

‘amR>r ê$nm§Va

gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) Amdí¶H$ VoWo gw~H$ AmH¥$Vr H$mT>mdr.

3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z Imbrb {dYmZo nyU© H$am. [5]

A) à{V{Z{YH$ CÚmoJg§ñWoMm gamgar IM© ............... AgVmo.

i) eyÝ¶ ii) H$‘mb

iii) {H$‘mZ iv) AZ§V

~) ‘hmË‘m ’w$bo ¶m§À¶m ‘Vo ............. ho eoVH$è¶m§À¶m J[a~rMo ‘w»¶ H$maU Amho.

i) {ZajaVm ii) ^m§S>dbmMr H$‘VaVm

iii) {Z¶moOZmMm A^md iv) dmagm h¸$ H$m¶Xm

10
1



SH - 216

-3-

H$) ñd§¶nyU© IoS>çmMr g§H$ënZm .......... ¶m§Zr ‘m§S>br.

i) ‘hmË‘m Jm§Yr ii) S>m°. Am§~oS>H$a

iii) XmXm^mB© Zm¡amoOr iv) ‘hmË‘m ’w$bo

S>) ^maVmVrb J[a~rH$S>o bj doYUmar n{hbr ì¶{º$ ................. hr hmoVr.

i) ‘hmË‘m Jm§Yr ii) S>m°. Am§~oS>H$a

iii) XmXm^mB© Zm¡amoOr iv) ‘hmË‘m ’w$bo

B) ‘me©bÀ¶m ‘Vo CËnmXZmMo .............. KQ>H$ AmhoV.

i) EH$ ii) XmoZ

iii) VrZ iv) Mma

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) Am{W©H$ {ZñgmaZ {gÕm§V

~) à{V{Z{YH$ AÚmoJ g§ñWoMr g§H$ënZm

H$) ‘hmË‘m Jm§Yr Am{U J«m‘ ñdamÁ¶

S>) JmS>Jri ¶m§Mr ghH$mamMr VÎdo

B) S>m°. ~r. Ama. Am§~oS>H$a ¶m§Mo Am{W©H$ {dMma

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao g{dñVa {bhm. (H$moUË¶mhr XmoZ) [20]

A) ‘me©b ¶m§Mr Am^mg I§S> g§H$ënZm {dfX H$am.

~) amOfu emhÿ ‘hmamOm§Mo H¥$fr {dH$mg YmoaU ñnï> H$am.

H$) S>m°. A‘Ë¶© goZ ¶m§Mo Am{W©H$ {dMma ñnï> H$am.


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